MADNI URDU HIGH SCHOOL

I Semeseter Examination Oct 2019
Time: 2 Hr
Std: X (il
Subiect: MATHS - II .
Date: 07/10/19 d Marks: 40

_é_};‘.’d;l}'é‘cd;’@u :(A) |/./U’/

(4)
-L/C"' ........................ ;‘,«EJCOSG I sind = % /rl (l)
5 4 5 -3
A 7 B) % © 3 0)

MGG 12 ()

(C) 12 cm (D) \§ 2 cm

(A) 10 3cm (B) 4AZ 2cm

_ugétfgul/- ----------- /.._L,//bc;P,Eﬁ-‘L_ébP _EJ/?(‘5C_,.}K/Z:¢_/“)L’5/’;J)(3.2 (")

A 1 ® P © 3 © 4

222258 =2 2Uf F A E D .,;ﬂgwhf’:& AB d’ﬁ:f AC é‘ BC C}bc’: AABC ()

A 14 B) 41 (C) 12 D)  2:1

(4) | & Sttt (B)
A(SPQR) _ PQ* 3 _ . _ .
AGXYZ) alrers = el v APQR ~ AXYZ ©)

. N
-46;"11;‘)’}0’»():(5.&4:9@ (i)
AT

- - . tgdﬂtd»‘;gg_)"/ﬂé.l‘/. AB ;}Jgf 6.7 (i}

~E I e LB 144 SKAABC S ()
(53 -:a.fg){)y/}df;'@n (A i

(4)
 EHe el S G

sin*e cog\;/ SeCQ
. = C ~= b
cos0 A -t

sin%0
LHS = + st
S cosH T
coso

Scanned by CamScanner



‘e

) Sub: Maths-|l

LN « ZLMN = ZLKN = 90°U*F  (2)

A RLLE Sk, SBMK L 5
-ES e 5K

K ZLMN = 90° ¥ ALMN : wsf
= MR 1 7 LN

KR2 = I {foL{G«_L:‘!yJJV!U:"i .................. (l)

ZLKN =90 _* ALKN
KR 1 25 LN

KR? =
{fl‘r.(}/(”) ()

MRz =[]
~MR=[_ ]
_‘LJ,;}J",K MK = R -
BD {5 U2 AABC (i)

Sc

A
s A-D-C .ot LABC
b AB AE ]
— = — St JA-E-B
BC EB_ "7
L ESL LI
B c --<BD LAt £B f AABC
AB  AD O FTO
BC — DC ............ . \/\-V','.(Jzafi:)‘)
CDE || *BC UtaaBC
AE AD
e i — I ¢ 1R (r ,,LE,/- oy
DG Jeo \.H‘.«(,.m
AB
Re  EB

anned by CamScanner



Std: X Page...3 ‘ Sub: Maths-II
(8 | -SESNe M =t f e (B)
- .
DB =3 cm «AD f 4 cm SUrL AU E 4D bbis Ly AC sl AB LU AABC (i)

5%0 :Eﬁf -“é;_((:"”JPJEC 9w a8 DE || *BC //Luj AE =8 cm sl

Qa3 BUV e P BLEP B S (] Bdr3T ()
3 E < 3 . 40 »~
“Uee £C 2 axd -,,épl’“‘w‘:d/cosemsece I tan9=—5—/i i)

=Y (g [ (12ugqu:Ll,u.,,wwu:w,,m.-/s..g (iv)

/Er = é»" 2. B¢ S AAgNa
- AB ﬂ&/&fwufém,,tg_wﬁ 6 11.6 (" 1176 SUSAB 5 (v)
(3) (L8 - ZEH 500 (W
-_ér}’”ufg(fcose slsecd x5 sech - 12 «cosecd =0 f/l (i)
-g.fr}”u,’"‘fﬁ)//:m‘?dl;
Ssech - 12cosechd = 0
& sech = 12 cosech
]')\O
cos0 sind KO
' il S e
sin0 - | l; 0
coso D)
I:I 'yj/ \57 "Y
tand = 2
sec?d = K @\
B 4 V\k\);o\
(t\
= \L}L\)\(’;fL
= 1+ = —*169 h \m \)\O\
25 0%
sechH = i ()}
. 5 ,;}a
3 ij
cosf = A ?/0«
e g

Scanned by CamScanner



Sub: Maths-Il

Std: X Page...4
i Eslssnsb AL Kt i s e tE (D)
_‘f_tn/.lf.é.p;f[,u:’f/[_
S

/PQR = 90° ¥ APQR : ¢ lsls
PR?= PQ? + QR? : o b/t
Q R #5was L & PR S
P-S-R JUA
Z = 90 Js APQR =¥

APQR ~ APSQ ~ AQSR e @)

(B SUE2IN4)

APQR ~ APSQ
P2 = | | )
APQR ~ AQSR
(k2 Fr 3k )
~QR2= | | ()
1 SGE () b (D)
PQ? + QR? =
PR? =
| ‘ (u(jl()-.éf (B)

(6)
-gu’(/a/’b = A ﬂﬁédb”f}&'!{o/’bg‘é A Aﬁd:’;m@ﬂ:.@%ﬂ»u‘ff (i

790 .bbl(eﬁ;zﬁ.ug (6 (54 LWL sl g F AR, (D)
e FUUS Uil sy

Scanned by CamScanner



Std: X Page...5 Sub: Maths-I|

A
MEEA =61+ tan®e gbdel TGt G
gl C -&g.fbi;li.g‘fa.ofd/secze e
R
2 e ZT=30 « £S=90 J* ARST (iv)
-&Ep#ST 4 RS 3 RT =12 cm
S T

(ué:() _Ei:d" :P’/-.)le
QR || EAB #EPQ || FBC AL )
"d/rJJJ— (b) % =7 -_ér}v (a)

e B2 _BR v (o) -ér}v c)u'
R C PA RC

HBT Aol T3 Jpbfe by %12qkd/dkﬁéj.;wz/‘ﬁc_j£f;t (i)
WAL et b B AL o er§3 5225 2 Tie b ib i

St lobloarylnd
gff;v,&?ﬂ N=a sinb-bcosdsl m= acosd+b sind i iii)

a2+ b2=m2+ n?

2 | (L8 -2 0201

Q BQ LAC«AP 1 BC (*AABC (i)
ACPA ~ ACQB J2_\&7%A-Q-C B-P-C
BC=12 <BQ=8 AP=7 /i
4 e . L AC I

PR =6cm . QR =5 cm PQ =4cm J*APQR « APQR ~ APMN Ci)

=2 5y
BN = 5 UAUTZRAPMN i APQR
YT Y Yy

Scanned by CamScanner



